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MALNUTRITION
A. Understanding a printed text (1)

The following text will introduce you to the topic of malnutrition. Look at the way it is divided into
sections and paragraphs. Pay attention to the headings and notes in the margins and to the illustration
and captions.
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Now look at these questions:

1. What is this text about?

2. Which two problems are dealt with?

3. What aspects of the second problem are considered?

4. To which paragraph does Figure 6.2 refer? What is its subject?

Read the passage through and find the answers to the questions. Remember that you do not have to

understand every word to answer them.
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Malnutrition of Affluent Societies

1 Overnutrition

In the sense of excessive energy (calorie or joule) intake is virtually universal in affluent societies. Few
retain their youthful slimness and many spend their lives struggling to control their weight. Those who
fail are riot necessarily big eaters. They may simply have 'thrifty' metabolism that is they are efficient at
utilizing dietary energy and at storing any surplus as fat. This would have survival value in times of food
shortage, but renders them susceptible to the high energy value of modern, processed foods. 2 A
consistently high energy intake leads not only to obesity but also to faster growth.

Wyo gl 435 g

by Gy 1
5 35 o Lai 1y 395 sz 09 Sl ol ) o8 ol l e Ty ety 5 el 13 e (U35 b s 5) 2 e (55 sline
Sl 2 gl i (55 sln (S1y55 Log) 395 (o0 ot o S8 i3S 0 395 (g S sl GO o |y 095 (555 e 3] (o lomn
o ol A e i Jsie 4 lo S50 083 5 5 AIE 5y 5551 5 kit 3 4T 85 el il 2ty '3 o Sl Sn
il 4zl Uy 35 132 3gsaS Ll 53 s



Earlier puberty, greater fertility and earlier ageing. Over nutrition disturbs metabolism in many ways.
Synthesis of cholesterol as well as of triglycerides is increased, and levels of lipids rise in the blood and
bile. Insulin secretion is increased, but insulin resistance develops so that glucose tolerance is impaired.
Uric acid levels in the blood increase, and blood pressure rises. All these changes are reversible.
Unfortunately, the tendency to develop some malignant neoplasms is also increased.
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Obesity
Definition

3 The excess storage of fat is surprisingly difficult to define and to measure accurately. In practice, an
experienced eye is a good judge of the presence of obesity especially in the unclothed patient. To
measure it one requires data on weight and height.
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Life insurance companies have published tables showing the desirable or ideal weights of men and
women of different heights, that is the weights associated with the best life expectancy. A person with a
body weight of 10 per cent greater than this ideal is said to have a relative weight of 110 per cent.

Obesity can be defined arbitrarily as a relative weight greater than 110 per cent; some say 120 per cent.
Various obesity indices have been invented, the best being W/H2, where W is the weight in kg and H is
the height in meters.
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Epidemiology 4 Prevalence of obesity increases with age but the very old are not often obese because
most of their fat contemporaries have already died. There is a well-marked familial tendency. The sex
and social class distribution of obesity vary in different countries and at different times. In Britain today
obesity is commoner in the lower socio-economic classes. In developing countries it is a disease of the
upper classes.
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Etiological Factors
Etiological factors in obesity

Genetic susceptibility ('thrifty trait') Physical inactivity Social pressures (or lack) Sweetness 'addiction'
Failure to breast feed Eating for emotional reasons

Refined carbohydrates (high energy, low satiety food) Carbohydrate drinks

Invisible, added fat in prepared foods Constant availability of palatable, convenient food
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5 Their relative importance is controversial.

Contrary to popular belief most overweight people eat no more than average (though of course they
have taken in more calories than they need).

This emphasizes the importance of individual susceptibility. Overnutrition often begins in infancy with
the use of over concentrated milk formulae laced with sugar and with too early introduction of solid
foods especially cereals.

A taste for sweet, refined foods is encouraged through childhood, and may be set for life. Poorer people
eat more refined foods and less fresh ones than those who are better off. Physical exercise contributes
relatively little to overall energy output.
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Despite its popular acceptance, the theory that lack of exercise causes obesity lacks evidence.
Psychosocial factors can be important.

In different cultures and in different levels of society, obesity is admired, tolerated, shunned or feared.
Mass circulation magazines are very influential in deter-mining women's figures. In pregnancy, a woman
becomes fatter in physiological preparation for the demands of breast feeding. She may fail to recover
her non-pregnant figure if she feeds her baby artificially.
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6 Very few cases of obesity are due to endocrine disease. Endocrine causes include hypothyroidism,
Cushing's syndrome and, in men, feminizing syndromes.
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Associated Diseases

7 Obesity contributes to and aggravates many of the major diseases of affluent, Western societies. Most
cases of diabetes (Type 2, or the non-insulin dependent variety) are related to obesity, as are many
cases of gallstones. Hypertension and hyperlipidemia are commoner in the obese, which helps to
explain why fat people are excessively prone to ischemic heart disease and cerebrovascular disease.

These diseases are the main reason for the shorter life expectancy of the obese. A man who reaches his
50th birthday carrying 251h (11.3 ke)-of excess fat has 25 per cent less life ahead of him than if he were
slim.
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The obese are also more prone to develop cancer, especially cancer of the breast. Uterus and colon.
Surgical operations are more difficult and more hazardous, with increased risk of venous
thromhoetnbolism and 'respiratory infections.

The locomotor system also suffers, with increased osteoarthritis, especially of hips and knees, and gout.
The obese move slowly and clumsily and are accident-prone. Gross or morbid obesity hinders
respiratory movements and can lead to ventilator insufficiency.
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Finally, there are psychological problems. Fat people cannot dress smartly or fashionably. They are often
depressed by their deformity and are afraid to go out.
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B. Check your understanding

Now read the text carefully, looking up any new items in a dictionary or reference book. Then answer
the following questions.

. Which people get fat, other than 'big eaters'?

. What are the consequences of consistently high energy intake?

. What is the best obesity index and what does it mean?

. Why are the very old not often obese?

. What is the social class distribution of obesity in Britain?

. What foods do richer people eat?

. Why do women become fatter in pregnancy?

. Which diseases are principally responsible for obese people dying at an earlier age?
. What percentage less of life does a 50 year old man have ahead of him for each pound of excess fat
that he carries?

10. What difficulties do fat people have with clothes?
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C. Increase your vocabulary
In this section, you should use your dictionary to help you answer the questions about the text. 1. Look
at first paragraph. Which words could you replace with the following?

¢ Almost ® wealthy e economical ¢ excess ¢ vulnerable
2. Which words in the second paragraph have the following meanings?

* The combining of several different parts to make a whole ¢ the production and release of S substance
within the body by a gland

* remaining undirected by something (rind two different words with this meaning) e an inclination or
leaning towards something ¢ a growth or tumor
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3. Look at paragraph 2. Which words have the opposite meaning to the following?
e OQutput ® improved e luckily ¢ benign

4. Explain the meaning of the following words: e (para. 2) level ¢ (para. 3) arbitrarily ® (para. 3) relative
(para. 3) indices ® (para.

5) Emphasize S. ® what is the singular form of indices (para. 3)? ® What is the plural of synthesis (para.
217

6. Look at paragraph
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7. What words could you replace with the following? e worsens e susceptible to e particularly e

dangerous e gets in the way of a disease. These diseases are the main reason for the shorter life
expectancy of the obese.



A man who reaches his 50th birthday carrying 251h (11.3 ke)-of excess fat has 25 per cent less life ahead
of him than if he were slim. The obese are also more prone to develop cancer, especially cancer of the
breast.
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Uterus and colon. Surgical operations are more difficult and more hazardous, with increased risk of
venous thromhoetnbolism and 'respiratory infections.

The locomotor system also suffers, with increased osteoarthritis, especially of hips and knees, and gout.
The obese move slowly and clumsily and are accident-prone. Gross or morbid obesity hinders
respiratory movements and can lead to ventilator insufficiency. Finally, there are psychological
problems.

Fat people cannot dress smartly or fashionably. They are often depressed by their deformity and are
afraid to go out.
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B. Check your understanding

Now read the text carefully, looking up any new items in a dictionary or reference book. Then answer
the following questions.

. Which people get fat, other than 'big eaters'?

. What are the consequences of consistently high energy intake?

. What is the best obesity index and what does it mean?

. Why are the very old not often obese?

. What is the social class distribution of obesity in Britain?

. What foods do richer people eat?

. Why do women become fatter in pregnancy?

. Which diseases are principally responsible for obese people dying at an earlier age?

. What percentage less of life does a 50 year old man have ahead of him for each pound of excess fat
that he carries?

10. What difficulties do fat people have with clothes?
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C. Increase your vocabulary

In this section, you should use your dictionary to help you answer the questions about the text. 1. Look
at first paragraph. Which words could you replace with the following? ¢ AlImost ¢ wealthy ® economical
¢ excess ¢ vulnerable

2. Which words in the second paragraph have the following meanings?

¢ The combining of several different parts to make a whole ¢ the production and release of S substance
within the body by a gland e remaining undirected by something (rind two different words with this
meaning) ¢ an inclination or leaning towards something ¢ a growth or tumor
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3. Look at paragraph 2. Which words have the opposite meaning to the following?
® Qutput e improved e luckily ® benign

4. Explain the meaning of the following words:
e (para. 2) level e (para. 3) arbitrarily ® (para. 3) relative ¢ (para. 3) indices ® (para.

5) Emphasize S. ® what is the singular form of indices (para. 3)?
¢ What is the plural of synthesis (para. 21?

6. Look at paragraph

7. What words could you replace with the following?
e worsens ¢ susceptible to e particularly ¢ dangerous e gets in the way of
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D. Check your grammar

1-DEFINITE AND INDEFINITE ARTICLES

Do you remember? Diagnosis is based on the clinical findings and a compatible dietary history. Thiamine
pyrophosphate is an essential co-enzyme in a key step in the metabolism of carbohydrates.

Supply or omit a, an or the as required in the following sentences.

Note that a line does not always mean that a word is necessary.
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(a) Beni beri is largely disease of technology and is associated with polished rice; it became common in
_rice-eating countries of East when steel mills were introduced.

(b) Catalystis substance which aids or speeds up progress of chemical reaction without itself being
changed; in biological systems, class of biochemical catalysts are collectively known- as enzymes.

(c) Since development of electron microscope, revolutionary new science has been born, that of
molecular biology.

(d) Problems of world hunger are not simply unavoidable consequence of overpopulation.
(e) Precise composition of intravenous feeding regimen will obviously vary with patient’s individual

needs.
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2. LINKING SENTENCES

Do you remember? Although starvation is uncommon in the developed world, cases are occasionally
encountered. People in some developing countries are malnourished, whereas those in developed
countries are usually over nourished. Many obese people wish to lose weight. However, they do not
always find this easy.

Complete the following sentences with however, although, or nevertheless so that they make sense.

a) Dietary fiber cannot be digested by the human gut. It has an important role in healthy intestinal
function.

(b) Sales of bran and of other unrefined foods are rising in Britain. , some experts fear _ this could lead
to malabsorption in vulnerable subjects.

(c) Curing obesity may seem easy in theory, few people have the necessary determination to change
their eating habits. (d) Cancer of the large bowel has been linked to a low-fiber diet., direct evidence is
lacking.

(e) Sales of whole meal bread are rising, sales of sugar are falling.
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E. Understanding a lecture
Listen to this lecture, which is about chemical terminology and the composition of foodstuffs. Look at
the incomplete notes and table. Try to complete them as the lecturer gives his talk. Try to complete as
much as possible the first time you listen:
Section 1 Title of lecture.
Section 2 Chemical terminology ® a molecule is a structure formed when ¢ Atoms are the smallest
possible particles of e Elements are substances which by chemical means. ¢ A compound is a
substance made by
Sy S S E.
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¢ The structure of DNA takes the form of Section 4 the constituents of foodstuffs e the three main types
of macromolecule in foodstuffs are e Proteins are made up of e Carbohydrates are made up of e Fats
are composed of e Fats are also known as
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F. Understanding a printed text (2)
Read the following text carefully, looking up anything you do not understand.
Malnutrition in Poor Countries
Starvation | Crop failures and droughts still lead to famine in the poor countries of Africa and the East.
Overpopulation, poverty and civil strife can all play a part. 2 When food supplies fail, the body draws on
its energy reserves (Table 6.1). These are mostly triglycerides in the
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Adipose tissue. Healthy young men and women in the West are about 12 per cent and 26 per cent fat
respectively, but many Bangladeshi for instance have much smaller fat stores. Once 25 per cent of body
weight has been lost death is increasingly likely to occur, though survival of 50 per cent loss is possible. 3
Wasting of all tissues occurs, except for the brain. The 171, 1.1 ri shrink to half ti'"' °:’4: 7, weight, and
this can lead to irreversible cardiac 'failure.
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Characteristic of starvation from any cause. It is probably due to loss of elasticity of the connective
tissue more than to a fall in serum albumin. It is associated with nocturia. 4 Other clinical features
include dry skin with brown patches, peripheral cyanosis, slow pulse and hypotension. Loss of sexual
powers and amenorrhoea are common, and the subject becomes irritable, egocentric and apathetic,
even psychopathic. Infections of all kinds are common. Diarrhoea is a terminal sign.
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5 Treatment is simply the provision of food, but advanced cases may need to begin with easily digestible
skimmed milk feeds.

Infantile Marasmus
6 This is simply starvation of babies. It is usually caused by early weaning from breast milk on to formula
feeds which, through ignorance are too dilute and often dirty. Maternal deprivation can also cause it.
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The baby is wasted and weak and often has signs of vitamin deficiencies, anemia and dehydration. -
Diarrhea is common. This disease can overlap with kwashiorkor.
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Kwashiorkor (Protein-Energy Malnutrition)

7 On a world scale this disease must kill more people than all other nutritional diseases put together. It
is children who die - 5 million every year - mainly in Africa. Latin America and the Far East. In the
language of the Ga tribe of Ghana.

Kwashiorkor means first-second. It is the sick-ness of a child displaced from the mother's breast because
a new baby is expected, and weaned on to gruel which is deficient in protein. It is a very common
disease in tropical countries where the population lives on a staple food, such as plantains.
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Cassava or maize, that provides enough energy as carbohydrate, but not enough protein for a growing
child. Added factors are poverty, ignorance and taboos against giving milk, eggs, fish or meat to children.
It begins usually between 9 months and two years and by presentation the child is often desperately ill.
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He is stunted, miserable or listless, and anorexic, and usually has diarrhea (Fig. 6.3). Edema due to
hypoalbuminemia hides severe muscle wasting. The 'liver is grossly e Fatty. Virtually_ every organ, tissue
and biochemical process is abnormal, but all the changes are reversible. One possible exception is that
mental development may be -permanently retarded. Secondary infections are important because they
increase the need for protein and so worsen the deficiency.
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Overt ill health is often precipitated by an attack of gastroenteritis, measles or pneumonia and may be
exacerbated by endemic tropical diseases such as malaria, hookworm and roundworm. Severe cases are
often complicated by vitamin and trace element deficiencies. The mortality of cases admitted to hospital
varies from 10 to 60 percent.
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8 Treatment of mild cases is simply provision of adequate food or the addition to the home diet of milk or
milk substitutes. Diarrhea from lactose intolerance may be a problem. Severe cases need electrolyte
repletion before beginning small frequent feeds of milk or other protein sources. Many concentrates of
vegetable protein are available, based on maize (corn), peanuts, soya bean flour, etc. After recovery, the
mother must be trained to supple-ment the family diet with a high protein vegetable such as beans.
Prevention requires government action and involves education in good agriculture and good nutrition.
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G. Check your understanding

. Answer the following questions on the text:

. What are the causes of famine?

. Of what do the body's energy reserves mostly consist?

. When the body has exhausted its reserves of fat, what other source of energy can it utilise?

. How much fat does the normal 65 kg man utilise daily from body stores?

. What percentage of body weight can be lost before death becomes increasingly likely to occur?
. Which organ does not shrink in starvation?

. Why may cardiac failure occur in starvation?

. What can happen to the small intestine in starvation?
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9- What can the brain learn to use as a source of energy ?

10- Why is this important ?

11-Why may the legs swell up in starvation ?

12- What is infantile marasmus ?

13-The text gives two meanings for the term 'kwashiorkor'. What are they ?

14- At what age does kwashiorkor usually begin ?

15- How many children die each year from kwashiorkor ?

16- Why are secondary infections important ?

17-In one organ, changes brought about by kwashiorkor may be irreversible. Which is it ?
18- What does prevention of kwashiorkor involve?
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H. Understanding discourse

Listen to the tape. You will hear a conversation between two students. One is
explaining to the other about the syllabus of the medical school. Listen to the tape
twice. The second time, try to complete the exercise below.

1. One of the students tells the other about the course in the medical school. Note
down the parts into which it is divided, how long they last, and what subjects are

studied. Where does each part largely take place?
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2. The first student uses three different ways of expressing incompleteness of
understanding. Can you complete the following sentences from the conversation? e
What the course involves. ¢ What that consists of. - ¢ what happens next.
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3. « How many students are there in the medical school? e« What do the pre-clinical
exams involve? ¢ What happens when you pass your final exams?

4. Can you explain what medical courses involve in your country? Are they different
from the usual British course outlined by the second student?
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